ggB&BSHAHOR T STONE MANOR REV DATE ECO DESCRIPTION
d #14x5/8" SHEET METAL SCREWS
CLOPAY _|GH11, GH12, GH13, GH21, GH22, GHR11, GHR12, GHR13, GHR21, GHR22, GHRVil, GHRV12, GHRV13, GHRVZ1, GHRVZZ . )
IDEAL [SM11, SM12, SM13, SM21, SM22, MGI1, MG12, MG13, MG21, MG22, MGV11, MGV1Z, MGV13, MGV21, MGV22 02 | 04/13/07 ADDED OPTIONAL LITES; ADDED STONE MANOR
HOLMES | SP11, SP12, SP13, SP21, SP22, SPV11, SPV12, SPV13, SPV21, SPV22 03 | 04/20/07 UPDATED STRUT ILLUSTRATION.
OPTIONAL AGRYLIG GLAZING 15 PLASKOLITE OFTIX-OR 1/4%3/4" SELF 04 | 07/10/08 | ER1184 | ADDED RETAL MODELS.
LUCITE CP APPROVED CC2 PLASTIC IN ACCORDANCE INTERMEDIATE STILES ATTACHED W/ TOG-L-LOC (TOP ~ TAPPING SCREWS.
WITH IBC/FBC 2606 (SEE SECTION B-B). 2 B0 AND. URETHANE. AGHESIVE, (ALOWG CENTER) 14 GA. END HINGES 05 10/10/08 REVISED FOR FPA.
) STILES PER SECTION.
e DOOR
i HEIGHT "L
i : DOOR |
o e — ————— m— —————————————— TRACK CONFIGURATION ABOVE HEIGHT | %™
—_———————————— THE DOOR OPENING DOES NOT HORIZONTAL TRACK SUPPORT BY g5 10
AFFECT THE WIND LOAD RATING. DOOR INSTALLER (TO SUIT) VAR
,/,;, 8—0" | 88
o Vew h:y 771 IRACKS UP TO 8" IN HEIGHT
2T 7 — TRACK CONFIGURATION ABOVE
£ % THE DOOR OPENING DOES NOT HORIZONTAL TRACK SUPPORT BY
zi %% AFFECT THE WIND LOAD RATING. DOOR INSTALLER (TO SUIT)
! 13 GA. GALV. STEEL FLAG BRACKET. 7% ’
§ - EACH FASTENED TO WOOD JAMB WITH 7 TRACKS ABOVE 8 IN HEIGHT
i} e (3) 5/16"x1—5/8" WOOD LAG SCREW. .
= = % 13 GA. GALV. STEEL FLAG BRACKET.
I
g 10} EACH FASTENED TO WOOD JAMB WITH
£ tggx PosmoN n (3) 5/16™x1-5/8" LAG SCREWS.
8 WO POINT LOGKING o NOTE: 3” TRACK AVAILABLE
a o It AS NEEDED.
~ o " =
(] g 30
2” GALV. STEEL TRACK = MAX
THE FIRST STRUT ON THE BOTTOM [ A . ]
SECTION IS ALWAYS AT THE BOTTOM = | TRACK THICKNESS: 060 T
OF THE DOOR. = o 2” GALV. STEEL TRACK
SECTIONS WITH ONE U-BAR: POSTION & Q 1 . 08"
AT TOP UF SECTION AS SHOWN % 8 / TRACK THICKNESS: .060™ MIN.
OVER HINGES. »
SECTIONS WITH TWO U-BARS! ] TYP. 2—1/2"x12 GA. GALV. 1 24"
N Do M Mabey ST micn S s [
S ] (4) TRACK BRACKETS PER SIDE. 5 TYP. 2-1/2x12 GA. GALV. STEEL TRACK BRACKET,
OPTIONAL OUTSIDE KEYED LOCK POSITION (&} D)
e dwnans | SROWRVE BOTTOM BRACKET AS 5 e 4 HV" .5 TRACK BRACKETS PER SIDE <UP TO 10’ HIGH.
MAX. DOOR WIDTH = 160" ! (SEE HEIGHT CHART FOR U-BAR q T e e (6) TRACK BRACKETS PER SIDE (UP TO 12’ HIGH).
ARRANGEMENT) % e (7> TRACK BRACKETS PER SIDE <UP TO 14’ HIGH>
- LHR TOP BRACKET = e (8 TRACK BRACKETS PER SIDE <UP TO 16’ HIGH>
— rrmT ™ DOUBLE HORIZONTAL e DISTANCE BETWEEN FLAG AND TOP TRACK BRACKET
TRACK o NOT TO EXCEED 30“ 0.C.
3-1/2*
SECTION p=p  QPTIONAL 10 SCREW
FRONT FRAME WITH U.V.
LOW HFADROOM OPTION
COATING ON QUTSIDE SURFACE GRAND HARBOR 24GA W4-16
- SNAP LATCH ENGAGES
o NO. OF U-BARS PER SECTION D LATCH, ENCACES
DOOR HEIGHT[ SECTION NUMBER ONE SNAP LATCH ON
/ DSB GLASS OR 1/8" ACRYLIC FT. IN. 112]13]4]5]6]7]8 INTER. STILE EACH SIDE OF DOOR. STOP MOULDING BY DOOR INSTALLER (TO SUIT)
MOLDED INSIDE 6 6 eli1fel1]l-]-1-1- 4 2x6 YELLOW PINE JAMB 16 GA. MIN. GALV. STEEL END STILE
LITE. RETAINER #8x1—1/4" PAN HEAD SCREW VB I = = i
—I-1-1-11 = outsbEkevep —~ JRBI| WP %Y HA
(10 SCREWS PER LITE) 5 E’ S S S S e R e OUTSIDE, KEYED o 5 20 GA GALV. STEEL INTER. STLE >
S E’ é ? é S g ——1—= STILE 12 GA. GALV. STEEL TRACK : é
2 BRACKETS FASTENED TO WOOD JAMB
9 8 s S % s g -1-1- INSIDE HANDLE WITH ONE 5/16"x1-5/8" LAG SCREW |
> -1=-1= PER TRACK BRACKET.
—T= QUTSIDE_KEYED LOCK .
0 6 fctlle g1l SNAP LATCH LOCK OPTION SUREORTING STRUCTURAL ELEMENTS \7/ 167 LD, ROUND PUSHNUT 18 GA GALV. STEEL INTER. HINGE
1 0 121212 T == FASTENER (ONE PER ROLLER). FASTENE]
SECTION A—A (SIDE VIEW) 1 AR ST T=1= SHALL BE THE RESPONSIBILITY OF THE #14x5/8 SHEEI' MEI'AL SCR é
5 0 121l alai=1= PROFESSIONAL OF RECORD FOR THE 2" GALV. STEEL TRACK FASTENED TO GALV. STEEL ROLLER HING
—2-1/2" THICK S - BUILDING OR STRUCTURE AND IN 12_GA. GALV. STEEL TRACK BRACKETS. ASTNED TO END. STRES EAGH w?%)
1/2" DECORATIVE OVERLAYS 2 qHICK 2 [ lig11ie 2 ACCORDANCE WITH CURRENT BUILDING “TRACK ATTACHED TO EACH BRACKET 14x5/8” SHEET METAL SCREWS
3 0 2lel2|2]1]2]|2]- CODES FOR THE LOADS LISTED ON WITH ONE 1/4"x5/8" BOLT & NUT f4) 1/4"x3/4" SELF TAPPING SCREWS PER END HINGE.
ADHERED TO OUTSIDE SKIN END SLIDE BOLT
WITH PERMANENT ADHESIVE. M 3 g E g g é g :i: ? - STILE LOCK ENGAGES THIS DRAWING. OR TWO 1/4" DIA. RIVETS.
4 ? ? = INTO VERTI
24 GA. MIN. STEEL 4 6 lefilalileli]2l1 TRACK UNE 2” 10 BALL SHORT STEM STEEL ROLLER
D N K|I=NR|AVXE|§ S 0 foflofolelifolale Exch SiDE EREPARATION OF JAMBS BY OTHERS. WITH STEEL OR NYLON TIRE
S 6 eleleli]a2lala[2 OF DOOR. JAMB CONFIGURATION
AND A BAKED—ON POLYESTER 6 0 olelelelalele 1 THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE
TOP COAT APPLIED TO BOTH N INSIDE_SLIDE BOLT WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE SECTION C-—C
SIDES OF STEEL SKIN. 12 GA. GALV. STEEL TOP “~BOTTOM SECTION LOCK OPTION IMPAST RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS |
S%EEK%FB%IEEEDEW/G) REGIONS (REF. CHAPTER 18 FBC/IBC)
L THIS DOOR MEETS OR EXCEEDS THE DESIGN
{ééésés/a SHEET METAL LOADS FOR THE WIND SPEEDS LISTED BELOW VERTICAL JAMB ATTACHMENT (C=90 BLOCK OR
SHIP LAP JOINTS. N gCCORD'%‘qG 27y FoR T FoLLOWNG %W&WH CENTERS (C—90
INTER CONDITIONS: 1) ENCLOSED BUILDING, 2) DOOR BLOCK) OR 20" CENTERS (2,000 PS| MIN. CONCRETE) OR
HAS 2’ OF WIDTH IN BUILDING’S END ZONE, 1/4"x4” TAPCON SCREWS ON 17—1/2" CENTERS (2,000 .
1# DENSITY POLYSTYRENE FOAM 14 GA. GALV. STEEL 3) IMPORTANCE FACTOR OF 1.0, 4) ANY PS| MIN. CONCRETE), WASHERS INCLUDED WITH VERTICAL JAMB ATTACHMENT (WOOD FRAME_BUILDINGS):
INSULATION 1-5/16" THICK WITH END HINGE. EACH LOCK BAR ROOF SLOPE, AND 5) 50% SAFETY FACTOR. SLEEVE ANCHORS, 1" 0.D. MIN. WASHERS REQUIRED 1/2°x3" LAG SCREWS ON 24" CENTERS. 1” O.D.
VINYL HAIRCELL BACKER (OPTION FAS . ENGAGES IN WIND SPEED (MPH) s1oo 110 | 110l 120 WITH TAPCONS. ANCHORS MAY BE COUNTERSUNK MIN. WASHER REQUIRED. LAG SCREWS MAY BE COUNTERSUNK
TENED TO END . TRACK ON [WIND SPEED (MF (BUT NOT REQUIRED) TO PROVIDE A FLUSH (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING
AVAILABLE) STILES W/(4) #14x5/8 QuTSIDE EACH SIDE EXPOSURE LEVEL _[BorC[ B| C| B MOUNTING SURFACE. HORIZONTAL JAMBS DO NOT SURFAGE. HORIZONTAL JAMBS DO NOT TRANSFER LOAD.
iHI-%E{ ¥/E4r-eL372’BEg\|’-:SI_F OF DOOR. MEAN ROOF HEIGHT| 30 30 15’ 30 TRANSFER LOAD.
X
TAPPING 'SCREWS.
3" TALL x 20 GA. GALV. . DESIGN LOADS: +24.0 PSF & —24.5 PSF.
3" TALL U-BAR s Ao U Bk goetw coamcs s sk wie 0L ORIDA £, 48495, NC PE. §23832, TEXAS P.E. #1513 TEST LOADS:  +36.0 PSF & —37 PSF.
20 GA. GALV. STEEL - EACH U-BAR ATI'ACI-II'ED INK WITH A RAISED SEAL (EMBOSS). f= ) .E. ) .E.
: . WITH TWO_ 1/47x3/4" SELF TAPPING MANUF ACTURING PRODUCT CODE

AT

1-7/8"

T

SCREWS PER STILE LOCATION.

- 13 GA. GALV. STEEL BOTTOM BRACKET.
ATTACHED WITH (2) #14x5/8” SHEET METAL SCREWS.
ALUMINUM EXTRUSION
& VINYL WEATHERSTRIP.

- l}lnpay

CLOPAY BUILDING PRODUCTS COMPANY
8585 DUKE BLVD.
MASON, OH 45040

MPC: SPO—-2F449

WINDLOAD RATING | MAX. DOOR SIZE:
16’'0"W x 16'0"H

DESCRIPTION:

B ul | d N g P ro d u C+S The arrangements depicted herein are the sole property
CO m p d ny in any form "without it's written permission.

GRAND HARBOR 16'W +24/—24.5 PSF

DATE:
(513) 770—4800 11/01/06
i q DRAWN BY:
Clopay Corporation All Rights Reserved. BFA
of the Clopay Corporation and may not be reproduced CHECKED BY:

DRAWING NUMBER:
B 103550

FLORIDA PRODUCT APPROVAL 5675




